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(1) 2 H329 Oaxel JIEM=sXl EX22 0 -3y S48 2 QEE &2 U3

<H 1>, <H 220 UHEHWHATH JISsH==X &7, &7, ot72 < COD, T-N, &€&
g, T-P &= & T-PE M2t &€=20AM B2 &£I)IE2 8= A2 LERU
<H > IJISM=X 4%, S7, ot& E§H= §4
71 EATA N1 EATA T 71 &AFA 8t
pH 7.4 7.0 6.9
EC(us/cm) 272 476 638
e (%) 45.3 65.1 62.3
B4 SL SiC SiC
& a3 (%) 7.4 10.5 10.8
COD(mg/kg) 16,582 26,461 24,530
T-N(mg/kg) 1,658 1,665 1,724
T-P(mg/kg) 26 43 74
Cd(mg/kg) 0.09 0.19 0.09
Cu(mg/kg) 3.17 8.91 4.99
Zn(mg/kg) 11.18 12.07 11.39
Cr(mg/kg) 0.44 0.57 0.74
Pb(mg/kg) 3.28 3.87 3.33
<H 2> JIgNd=X zaF 2 EE2 &4
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451 452 A3 2454
pH 6.6 6.5 6.2 6.3
EC (ss/cm) 72 80 168 77
58 (%) 37.1 29.3 46.7 20.9
=4 sL sL LS sL
A7 %) 6.9 6.0 7.3 3.6
COD(mg/kg) 9,847 7,356 7,120 5718
T-N(mg/kg) 1,615 1,606 1,643 1,634
T-P(mg/kg) 12.0 15.8 7.1 3.1
Cd(mg/kg) 0.20 0.17 0.13 0.24
Cu(mg/kg) 6.06 6.04 5.07 11.21
Zn(mg/kg) 13.60 13.94 14.14 14.19
Cr(mg/kg) 0.89 0.67 0.98 1.38
Pb(mg/kg) 5.39 5.60 4.91 6.16
A375 2456 AR 2458
pH 63 6.4 65 65
EC(ps/cm) 62 144 59 93
48 (%) 21.6 43.3 39.1 33.9
4 LS sL sL LS
A (%) 3.6 5.0 6.1 6.1
COD(mg/kg) 10,845 3,552 13,036 10,008
T-N(mg/kg) 1,729 1,632 1,659 1,660
T-P(mg/kg) 0.4 17 0.9 8
Cd(mg/kg) 0.18 0.08 0.21 0.10
Cu(me/kg) 8.55 2.31 9.81 3.99
Zn(mg/ke) 13.70 10.17 12.27 14.75
Cr(mg/kg) 0.64 0.56 0.52 0.51
Pb(mg/ke) 5.47 4.05 6.04 4.49
(2) JIsd==X zaER ¥ =27 BHY A4F 20, NYFRRE 20 H, = UH R
APDE 5,937 m® 23 E|=ElE A2 UEIRCL JIEM+X &, 5, 517 22 24
ST EIE AR QAL AR RYSIIE SHNILH CrYst Q000 Sla KUY O
Mgt Xte =HUUA THHEe=Z S50 2st FFHE2Z AA6l &t 2 A
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|
pHEH 2}
Y| muUEH =

14

12

1]

16
14
12
10

HET ==K Kef/em?)
xrEEE] "iaggd

B 8
" 5
4 4
2 : 2 ’ =
a = 0 &
8% 10% 12% 8% 10% 12%
<O8 2> pH ¥ 2L HE
T-P #H5Hmg/ke) T-N H2H{mg/kg)
60 1,900
- 1,850
1,800
u 1,750
30 8% 700 ——8%
i ~B-10% || 1650 —-10%
——12% || 1,600 ——12%
L 1,550
0 1,500
FI|ZEE) UL S ZIEBE) uUYE s
<O 3> JL=SE 3 Bt
V. d2Z e &= =
L) XIAAHC s442 22/HE 8 Al 28 J2 22 88
0 =4 HMel Al 28 §X828 4 X2 HA
O MEs Z&AJI Z48 & NS S0 RN g8 4




